
Homework Exercises







This question asks which of the three BNs enforce the independence of G_father, 
G_mother, and G_child. Only (c) enforces this because of the “common effect” (aka 
V-shape) triplet.





The hypothesis is basically “gene G affects handness H” and “gene G inherits from genes 
of parents”. Hence, a BN that is consistent with this hypothesis must NOT enforce 
independence b/t a person’s gene and its handness and b/t a person’s gene and his/her 
parents’ genes. 
Neither (a) nor (b) enforce these independences, hence the answer.





The hypothesis states “perhaps actual handedness turns out mostly the same (...) as the 
gene an individual possesses”, which hypothesizes that gene is the only influence of a 
person’s handness.

Though both (a) and (b) are consistent with the hypothesis, (b) connects handness of 
parents to handness of child, which suggests there is an potential influence b/t parents’ 
handness and child’s handedness. This makes (b) in a sense more “redundant” and 
hence (a) is a  more accurate, more succinct description.



HW 3 (Games): Q6





HW 4 (MDPs): Q5







HW1 (Search): Q9















HW2 (CSPs): Q5 















HW 5 (RL): Q6




